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TILAK MAHARASHTRA VIDYAPEETH, PUNE 
BACHELOR OF BUSINESS ADMINISTRATION (B.B.A.)   

EXAMINATION: MAY- 2024 
SEMESTER - V 

Sub.: Indian Economy (BBA15-514)  

Date : 28/05/2024 Total Marks :  60              Time: 10.00 am to 12.30pm 
 

Instructions: 
 
1)  All questions are compulsory. 
2)   Figures to the right indicate full marks. 

 

Q. 1. Choose the most appropriate option. (05) 
           1.  Population explosion happens when ….  

 a)Death rate is higher than birth rate  b)Birth rate and Death rate both 
decreasing equally 

 

c)Birth rate decreases slowly but dearth rate 
decreases rapidly 

d) Both Birth rate and Death Rate are 
negative  
 

 

2.      Which one of the following is reason for low agricultural productivity?  
 a) Technological advancement  b) Soil Fertility   

c)  Harmful Pesticides  d) Organic Farming 
 

 

3.  Which of the following option does not contain economic growth impact?  
 a)   Higher Gross Domestic Product b) Poverty Reduction  

c)  Increase in the production of consumer     
     goods  
 

d) Increase in Per Capita Income   

4. Deregulation of Interest rates were the part of….  
 a)   Privatisation  b) Globalization   

c) Import Policy  d) Liberalization 
 

 

5. The role of agriculture in the Indian economy includes:  
 a)   Being the primary source of livelihood 

for a majority of the population 
b) Providing employment to a small 
percentage of the population 

 

c)  Experiencing rapid decline in 
productivity over the years 

d)Contributing significantly to GDP but 
not to exports 

 

    
Q. 2. State True / False (05) 

1. 
Economic growth refers to an increase in the quantity of goods and services produced in 
a country, while economic development encompasses improvements in the quality of life 
and well-being of its citizens. 

 

 
a) True b) False 

 
 

2. The dualistic economic structure of India refers to the coexistence of traditional and 
modern sectors within the economy 

 

 
a) True b) False 

 
 

3. The public sector in India has consistently outperformed the private sector in terms of 
efficiency and profitability 

 

 
a) True b) False 

 
 

4. The birth rate refers to the number of deaths per 1,000 individuals in a population  

 
a) True b) False 

 
 

5. India follows a purely capitalist economic system with minimal government intervention.  

 
a) True b) False  
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Q. 3. Write Short notes on (Any Three) (15) 
1. Obstacles to Economic Development  
2. Socialistic Economy and its features   
3. Types of Poverty   
4. Small Scale industries in India   
5. 12th Five Year Plan   

   
 Q. 4.     Answer in detail (Any Two) (20) 

1. State the difference between economic growth and economic development, with 
referring factors affecting economic growth. 
 

 

           2.   Explain Demographic Transition Theory with drawing suitable diagram and correlating it 
with Indian population scenario  
 

 

3. Explain the Indian economic system as a mixed economy, discuss the features of Indian 
economy making it a mixed economy.  
 

 

4. How agricultural marketing system made agriculture robust and strong, evaluate the role 
of public distribution system in marketing. 

 

   
 Q. 5.    Case study  (15) 

 Imagine yourself as a government policy maker , you have developed 5 year plan for the 
alleviation of poverty and industrial growth in your area. What would be your key 
focused areas to achieve above stated objectives?  

 

 Question  
 1) Would you consider the composition or type of population while formulating 

plan? And yes, then how it will help for the growth. 
 

 2) Which government reports you will refer when it comes to the poverty 
alleviation scheme? 

 

 3) Please suggest some contemporary measures , and point out some actions you 
want to apply in your plan  

 

_________________ 
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